|

108t S22 E] x| &l

[

= 8Y/HMIZ olo|x]

o

>

© HEINRICH KIPP WERK GmbH & Co. KG

=9

THE:

UitaM, 25 el 2

HEHOIF2:

F8 484,

.

21X SEtxo|H 715Xl ob x| 1,
L2 -50 °C ~ +130 °C.

=22 WHol= oted EF 8 A3 F= LEAF DIN 912,
L{E DIN 934 2! o}9d =28+ 2tA DIN 125, 7{H{ Z40| Z & =|L|C}.
K0193.110006, K0193.210006 HHX12 7 2 gi0| 22 ElLIC}.

=M M.
ElQ A: HIO|A E0|E Q2
EtQ! B: HIO|A ZB0IE is

1) 7 A
2) Hlo|a EE0|E

www.kipp.com - info@kipp.com 1/3



[ ]
7405t E2IAE] Ol X O 8l
=
D1
® 1
1 1 i
~ 8 By
, : 4 O
. T ' Y ~ 1|
i 11
S - L1
D M1l
- A - Bt |
B2
D1

)
o\
I [ L1 =
D M ||
B A | B
== - — -
ES 9%
OfxI& gl
FEHS EFe] Efol =T A BB1B2 D DI HH1TH2 L L1 M StE
N
K0193.110006 A HolA ZR0|E /S HIO[A ZEFO[E QIS 100 48 23 19 7 114029 6 121 84 M6x25 600
K0193.112006 A HolA Z0|E /S HiolA ZB0|E /US 120 57 28 23 7 125236 7 152 104 M6x25 600
K0193.114008 A Hlo|A ZBI0IE /US HolA ZH0|E S 140 62 31 25 9,5 16 56 37 7,5 177 122 M8x30 600
K0193.210006 B HiolA Z8I0|E g #HlolA ZEHOIEQIS 100 - 23 19 7 113831 4 121 84 M6x25 600
K0193.212006 B Hio|A ZRI0|E gig #HiolA ZBOIE S 120 - 28 23 7 1250 38 5 152 104 M6x25 600
K0193.214008 B HiolA ZB0|E g Hlo|A Z8I0|E gig 140 - 31 25 9,5 16 54 39 55 177 122 M8x30 600

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



